
NSN 4320-01-627-0568
Centrifugal Pump Parts Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/4320-01-627-0568

End Application:

Uscg cutter boat,  over the horizon-iv 26 ft (oth-iv)

Component Quantity:

38

Component Document Origin:

Industrial

Document Source:

1pwp4

Document Type:

Engineering parts list

Component Document Page Number:

3

Supply Items And Quantities:

5120-98-205-9007,  impeller puller,  p/n 104689,  1;  5120-98-205-4257,  torque arm,  p/n 105797,  1;  5120-98-527-5210,  multi-screw

coupling puller,  jet,  p/n 112407,  1;  5306-01-562-0738,  bolt,  hex,  m24 x 75 gr8821,  p/n 201102,  1;  5210-01-068-5642,  tools (sockets)

a/f 50mm 3/4-inch sq drive,  p/n 201412,  1;  5120-01-571-5276,  spanner (skf) hn 10,  p/n 201448,  1;  5310-01-546-8465,  nuts,  ss 316, 

m8,  p/n 201309,  4;  5310-01-562-0742,  screws,  ss 316,  hex head m8x70,  p/n 201225,  4;  5310-01-546-2610,  washers,  flat,  ss 316, 

m8x16x1.2,  p/n 201383,  8;  5305-01-562-0760,  cap screw,  socket head,  m6x20,  p/n 201262,  1;  5310-01-525-4375,  nut,  impeller ab2, 

p/n 112291,  1;  5310-01-525-4371,  nut,  coupling ab2,  p/n 104619,  1

Nonsupply Items And Quantities:

(jet) packaging carton,  278 x 278 x 210,  p/n 063625,  1;  forcing bar for multi-coupling puller,  p/n 112408,  1;  forcing bar spacer,  15 mm

for multi-screw coupling,  p/n 112410,  1;  cap screws,  socket head m12 x 55,  p/n 030855,  8;  coupling with micro-v pulle (hardy spicer

1600),  p/n 110587,  1;  nut,  special (skf)  kmt 10,  p/n 063937,  1

Document Identification:

Hj29211000

Product Name:

Service tools kit,  hardy spicer 1600

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A23800

https://aerobasegroup.com

